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. GEOMETRY- Quiz REVIEW 10.1-10.3
Part 1: Wiite the best term for each object:

C=mnd

C=2nr

-13. If the radius of a circle is 8, what are its Diameter

( }nd Circumference?

A =16
C=l6w

Word Bank: central angle, inscribed angl
secant, semicircle , chord , minor arc, cen
tangent line, radius, diameter, major arc, point
of tangency
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14. Given: FG = 90°, HD = 80°, EC = 80°

Based on the figure, which chords are congruent?

Find the measure of the arc or central angle indicated. Assume that lines which appear to be diameters are actual

diameters.
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Name thm/ar_s made by the given angle. N\ /\
17. _TH__minor arc 8. UVT o UWT

Zz2 Maijor arc for £UQT /f}

19. In the circle shown below, JK=12 and LM = 12.

| )
A) What is the value of x? | L

o
B) What is the value of J1? 56

20. Find x and y ) 21. Find the below arc measure:
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Find all of the following angie and arc measures
in the diagram of OP with mEA=124 ,[:(_, - £

1. mEC= 14" . mAEPA=_(oL /QLILL)
2. mCA=[12° 7. maBPC=_56’
3. mCB=_S5¢° 8. mgEAC= ég"

4. mEEHA= 235£° 9. mgPAD= < LYo
5. mECB=] §0° 10. msCEA=56 ° )
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. part part arc length _ arc measure L AB
- Recall: Since or

whole whole’ Czrcumference 360° 2ntr 360°
%‘a Find the indicated measure below
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b) Find the arc length of ﬁ@
L _leo | 18L= )wpor

cm———

2w 144) | 360 L[,: . 1{)

5w _ B nPQ = I@é
an(is)  F€O P =150°
S Py

12 3eo
d) Incircle O, the radius is 4, and the measure of lmlnor arc AB is 120 degrees. Find the length of minor

arcAB to the nearest integer
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e) In circle O, the radius is 4, and the length of minor arc AB is 4.2 feet. Find the measure of minor
arc AB to the nearest degree. — f o= -
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